==
N = 0] &F AF S & AN A
20188 = 20l A LEHSIH IS
M 08I ED
HH: B8 U JIEAE
Sel: =T (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
HAII= 10 56,213,649 57,644,690 N 1,431,041
= 30,556,897
Jl 299,423
Al HI 21,432,648
Tl 3,924,681
g2 2 JIEASE 56,194,566 57,625,770 N 1,431,204
= 30,551,897
J| 299,423
Al HI 21,432,648
Tl 3,910,598
e =X 3,092,635 3,305,059 N212,424
= 1,235,888
J| 299,423
Al HI 1,355,254
=1 202,070
ALINAEXNSHEEH &H 179,694 179,694 0]
= 89,847
Al HI 44 924
-] 44 923
307 2I2t0| ™ 179,694 179,694 0
= 89,847
Al Hl 44 924
Tl 44 923
05 QIZ2tRE 2 179,694 179,694 0
OHUINEXNRALAH 849 NS 179,694,000 179,694
= 89,847
Al HI 44 924
24 44 923
FELADIIE XN 127,340 140,000 N 12,660
= 63,670
Al HI 63,670
307 2iz2to| A 127,340 140,000 N 12,660
= 63,670
Al HI 63,670
05 QIZ2tRE 2 127,340 140,000 AN 12,660
OJsdzeds A 127,340,000 127,340
= 63,670
Al HI 63,670
ool X& 1,446,272 1,702,299 A 256,027
= 1,012,391
Al HI 433,881
307 QI2t0| ™ 1,446,272 1,702,299 A 256,027
= 1,012,391
Al HI 433,881
05 QIZtREZ 1,446,272 1,702,299 A 25h6,027
Oootolss XA 1,446,272 ,000& 1,446,272
= 1,012,391




AN GEIEY
B 88 U RIS
el ot e =X CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
| Al'H] 433,881
Bss0UsH 2¢ 50,000 50,000 0
= 28,000
AlHI 12,000
T Hl 10,000
307 glz2tol & 50,000 50,000 0
= 28,000
Al 12,000
- Hl 10,000
05 RIZIRIE 3 50,000 50,000 0
Oss=x20tU=sH XA 50,000,000& 50,000
= 28,000
AlHI 12,000
I 10,000
429 I35y dEA 29 73,690 71,700 1,990
= 36,845
AlHI 36,845
307 glz2+0l & 73,690 71,700 1,990
= 36,845
AlHI 36,845
11T MISXASEX 73,690 71,700 1,990
OAtet It =884 298 XNE
73,690,000 73,690
= 36,845
Al HI 36,845
AGE DI B ES A A SAX SR =2 (AlH]) 5,400 5,400 0
AlHI 5,400
307 glz2+ol & 5,400 5,400 0
AlHI 5,400
11T MISRASER 5,400 5,400 0
OAtol HE=ZH4ELs 29 5,400,000 5,400
Al 5,400
E 46 XI2 3 (AlY]) 420,000 427,000 A7,000
Al HI 420,000
301 et A=z 420,000 427,000 A7,000
Al HI 420,000
01 AR 2Z A5 3 420,000 427,000 A7,000
OSAXIA3 (AL 420,000,000& 420,000
AlHI 420,000
ERANER=) 100,000 100,000 0
301 LAz 100,000 100,000 0
01 MI28E 6= 100,000 100,000 0
O AMOIZXE SLXAS 100,000, 000& 100,000
sEME2E NE 162,754 116,000 46,754




M 08I ED
Ha: 28 2 JFAL
e 8 =X (2 &HH)
SA BB (3H) - NRAY - B ﬁlgﬁ HRE2
Al'HI 162,754
301 et A= 162,754 116,000 46,754
Al HI 162,754
01 Al B & A 462 162,754 116,000 46,754
OsngEXNA 162,754,000 162,754
Al Hl 162,754
OlsHdotd XSl &9 7,240 7,240 0
= 3,620
Al Hl 3,620
201 et 9| 7,240 7,240 0
2 3,620
Al HI 3,620
01 AP 2t 2] H| 7,240 7,240 0
O0ls - 4 otd XYl 29 7,240,000 7,240
= 3,620
Al HI 3,620
OSSOt X & M2 K& 3,030 3,080 AB0
2 1,515
Al HI 1,515
201 gBt2Ad| 3,030 3,080 AB0
= 1,515
Al HI 1,515
01 AP 22| H| 3,030 3,080 AB0
OOsSAH™EAET M2 X3 3,030,000& 3,030
= 1,515
Al HI 1,515
CIE3IEs XN|HdEH 29X 163,134 163, 134 0
J| 81,567
Al HI 81,567
307 2izto| A 163,134 163, 134 0
J| 81,567
Al HI 81,567
05 QIZtR E 2 163,134 163, 134 0
OUSSIIESXNIAEEH &9 XN
163, 134,000 163,134
J| 81,567
Al HI 81,567
MHEHYSE L VUME S H20S A2 N (OS2 150,111 149,100 1,011
3IHE)
J| 105,079
Al Hl 45,032
307 212t0| & 150,111 149,100 1,011
J| 105,079
Al HI 45,032
05 QIZtREZ 150,111 149,100 1,011
OYEN= 150,111,000 150,111
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M 08I ED
3 8258 L JIEXE
Sel: =T (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HDE
Pl 105,079
Al HI 45,032
CHE3ItE At &tel K& 20,000 20,000 0
9] 14,000
Al HI 6,000
307 2Iz2t0| A 20,000 20,000 0
J| 14,000
Al HI 6,000
05 QIZ2tR EF 2 20,000 20,000 0]
OUE3IIE Atdi2el X 20,000,000 20,000
p] 14,000
Al HI 6,000
HS0|2I N HES X (CHR3IHE) 3,000 3,000 0
J| 2,100
Al HI 900
307 giztol A 3,000 3,000 0
J| 2,100
Al HI 900
05 QIZtRES 3,000 3,000 0
OZ=0|2 X HEEZ 3,000,000 3,000
J| 2,100
Al HI 900
0lZ00 JI=8d XM (URsHIHE) 21,375 16,572 ,803
J| 14,963
Al HI 6,412
307 212t0| & 21,375 16,572 ,803
J| 14,963
Al Hl 6,412
05 QIZ2tE 2 21,375 16,572 ,803
O0lsd stdxHd 21,375,000 21,375
J| 14,963
Al HI 6,412
CIE3Is Ao ogde X 58,911 58,912 |
J| 41,238
Al HI 17,673
307 2I2+0 & 58,911 58,912 Al
9] 41,238
Al HI 17,673
05 QIZ2tR E 2 58,911 58,912 A1
oded X 58,911,000 58,911
J| 41,238
Al HI 17,673
ASO|0L SEHAANHA XK (CEFIHE) 21,375 17,232 . 143
J| 14,963
Al HI 6,412
307 QI2t0| ™ 21,375 17,232 . 143




AN &8Iz
Ha: 28 2 JFAL
gel: 6g=X (eel:&d)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Pl 14,963
Al HI 6,412
05 QIZtR E S 21,375 17,232 4,143
OsHIAMHHI A 21,375,000 21,375
Jl 14,963
Al H] 6,412
SENHUE 2H(U23IHE) 22,162 22,162 0
J| 15,513
Al HI 6,649
307 QI2t0| & 22,162 22,162 0
J| 15,513
Al HI 6,649
05 QIZtREZ 22,162 22,162 0
Oost=0ns 249 XN 22,162,000 22,162
J| 15,513
Al H] 6,649
CEsits NHEE8EXH 10,000 0 10,000
J| 10,000
307 2Iz2t0| A 10,000 0 10,000
J| 10,000
05 QIZtR &2 10,000 0 10,000
OUE3IIE NMEHEXE 10,000, 000& 10,000
J| 10,000
ChEesiotd =X 6,000 6,000 0
307 2izto| A 6,000 6,000 0
05 QIZtR E 2 6,000 6,000 0
OUE3IE ns XN& 6,000,000 6,000
Ct23t Olo =& 23,000 23,000 0
201 YEt2 A H| 23,000 23,000 0
01 AP 2t 2] d| 23,000 23,000 0]
O0ls U223 s 18,000,000& 18,000
OUERSIIE st=23HE 5,000,000 5,000
He=2x =& 4,827 5,154 N 327
201 LBt Y| 999 1,110 AT
01 AP 22| d| 999 1,110 A1
OEMEHANM EE S 810
EEE M 300,000 33| *90% 810
OAHH SHAIRE 189
40 2 MY M2 70,000 *3IH *90% 189
203 SR F & 1,512 1,680 A 168
03 AIZH =X 2= X H| 1,512 1,680 A 168
OAdXIEANT 2 10,000 x40 x90% 360
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2N
X ZH -
L= B

el

OEINED
28 U I
o=

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OMEYELR =X (SHHSAF 22 & XY)
1,152,000 1,152
301 LBt A= 2,316 2,364 N48
08 MBI ER2IBAZ 1,584 1,584 0
O=AlH| 6,000& 22 x12& 1,584
09 #HAIAHI BEAZ 732 780 N48
OAES HIIME=E Y AAS 100,000& »3H 300
Odsduns &4 120,000& *x2H x23] x90% 432
HAERSTA =M 4,820 5,300 AN 480
201 LBt Y| 2,340 2,600 A 260
01 AP 22| H| 2,340 2,600 A 260
OWHERZTIZA A HD R 1,800,000 1,800
OWHERSIEA EES HE 540,000 540
203 R F & 500 500 0
03 AIZH =X 2= X H| 500 500 0
OUWHERBITA SR2F&X 500,000 500
301 et A= 1,980 2,200 AN 220
09 HAIAHI BEAZ 1,980 2,200 AN 220
OWHRZEZA FUENHE &S 1,980,000 1,980
HAECH 22 &8s I 8,500 8,500 0
307 212t0| ™ 8,500 8,500 0
02 QIZHEAAIE 2 X 8,500 8,500 0
OWHEEH & 2Uegs N 8,500,000 8,500
StE2 JId =X 4 1,580,118 1,494,149 85,969
2 765,390
Al HI 814,728
MASH(EUHESAIE) 172,560 125,942 46,618
= 155,304
Al HI 17,256
301 LBt A= 172,560 125,942 46,618
2 155,304
Al HI 17,256
01 AISIE & A %62 172,560 125,942 46,618
ORXNESAIAE MHASN 172,560,000 172,560
= 155,304
Al HI 17,256
DAESAE 29 318,838 275,729 43,109
Al HI 318,838
307 giztol A 318,838 275,729 43,109
Al HI 318,838
10 MM SAANEEHESIHEX 318,838 275,729 43,109




AN GEIEY
B 88 U RIS
ool R0 )Y =X B3 CERED
SA - BB B () - MM - BES Ol &t o San HmEET
OAEESALA el48] XI& 245,000, 000& 245,000
Al HI 245,000
ozel29g 73,838,000 73,838
AlHI 73,838
SUESAE 4% ANEEEHFZ NA 40,000 40,000 0
Al 40,000
301 g2 4= 40,000 40,000 0
Al 40,000
01 MI2ZHE +06l= 40,000 40,000 0
ORNESAE 84X HEEEZ XA
40,000,000 40,000
AlHI 40,000
SIRER2ItE Ald 24Xt AEXlg N& 9,740 9,740 0
= 4,870
Al HI 4,870
307 21201 A 9,740 9,740 0
= 4,870
AlHI 4,870
11T AL SXAIEE = 9,740 9,740 0
OYai &€z XA 9,740,000 9,740
= 4,870
AlHI 4,870
StREIIE SXAE HEE208 J& 3,000 2,460 540
AlHI 3,000
307 glz2tol & 3,000 2,460 540
AlHI 3,000
11T M SRAISE EX 3,000 2,460 540
OBERIE =SXNAL HPZ2IY N
3,000,000& 3,000
AlHI 3,000
StREEIIEANE &d=H s N2 740,650 570,400 170,250
= 592,520
AlHI 148,130
301 gtEd= 740,650 570,400 170,250
= 592,520
Al 148,130
01 MI2EZE 06z 740,650 570,400 170,250
OsR2Its IUH ¢4l S XN
740,650,000 740,650
= 592,520
AlHI 148,130
HEBIE A X 278,080 396,000 A 117,920
AlHI 278,080
301 LAz 278,080 396,000 A 117,920
Al 278,080




AN GEIEY
Ha: 28 2 JFAL
ol BRQ JlE =X =3 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 MI2EZE+06l= 278,080 396,000 A 117,920
O=d nsHl,s&3Hl 245,080,000& 245,080
Al 245,080
OBISEIE T (DSed) DSY N
33,000, 000& 33,000
Al 33,000
SRUNE =AHAA 1,380 1,180 200
Al 1,380
301 et a = 1,380 1,180 200
AlHI 1,380
01 MEIBEE 5= 1,380 1,180 200
ORXIIE F=AHAXNA 1,380,000 1,380
AlHI 1,380
FA4E 522 otsLsH N 15,870 23,008 AT,228
= 12,696
Al 3,174
301 et Aa 3z 15,870 23,098 AT,228
= 12,696
Al 3,174
01 Ml28E 6= 15,870 23,098 AT,228
O&Ead 822 g & 15,870,000& 15,870
2 12,696
AlHI 3,174
g R0 S48t =4 51,521,813 52,826,562 A 1,304,749
= 28,550,619
AlHI 19,262,666
T Hl 3,708,528
grot2szs N& 20,399,000 20,399,000 0
= 15,299,250
AlHI 3,569,825
T Hl 1,529,925
307 glz2tol & 20,399,000 20,399,000 0
= 15,299,250
AlHI 3,569,825
T Hl 1,529,925
05 RIZHRI &3 20,399,000 20,399,000 0
OgwrotE2ss XA 20,399,000, 000& 20,399,000
= 15,299,250
Al 3,569,825
Tl 1,529,925
FolE XA 9,225,000 9,225,000 0
Al 9,225,000
307 21201 A 9,225,000 9,225,000 0
Al 9,225,000
05 RIZt2IE = 9,225,000 9,225,000 0




M 08I ED
B 88 U RIS
el o - R0F RADIY X4 (el @2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OFceHd B2x2 K& 9,225,000,000& 9,225,000
Al HI 9,225,000
ChXEJIE e ss A& 63,000 56,000 7,000
Al HI 63,000
307 212t01 & 63,000 56,000 7,000
Al HI 63,000
10 MM SAANEEHESIHEX 63,000 56,000 7,000
O UXEIIE teess A 63,000,000 63,000
Al HI 63,000
HENAES U Es2 XA 60,000 36,000 24,000
Al HI 60,000
307 212t0| & 60,000 36,000 24,000
Al HI 60,000
10 AISIEXAIEEHE2IHIEX 60,000 36,000 24,000
OBAENASSES MHMEEZE A& 60,000,000 60,000
Al HI 60,000
H&EOOF gdts Ex5 A& 1,705 7,387 N5,682
Al HI 1,500
T 205
301 Lt A= 1,705 7,387 N5,682
Al HI 1,500
T 205
01 Al E & A 462 1,705 7,387 N5,682
OdIEOor gtE:s EgE XA 1,705,000 1,705
Al HI 1,500
24| 205
Y YK AYXA(0(2I01E 00/80HS) 9,640,090 10,933,333 A 1,293,243
= 7,230,067
Al HI 1,687,016
24| 723,007
301 YerE A 9,640,090 10,933,333 A 1,293,243
= 7,230,067
Al HI 1,687,016
24 723,007
01 Al B & X 262 9,640,090 10,933,333 N 1,293,243
ONeold nioIsots =&
9,640,090, 000 9,640,090
= 7,230,067
Al HI 1,687,016
24| 723,007
AMZHRIES ABIA M2 X 60,800 102,760 AN41,960
= 30,400
Al HI 15,200
24| 15,200
301 YerE A 60,800 102,760 £41,960




AN GEIEY
g 25 ¢ HEXNE
el g KO0t 4018 &4 fEH)
= - — L=
SA - BB B () - MM - BES il 2
= 30,400
AlHI 15,200
T Hl 15,200
01 MEI2BZE 05z 60,800 102,760 A 41,960
OAZIESE 25 X& 60,800,000 60,800
= 30,400
AlH 15,200
T Hl 15,200
OEgold 2N (LM Y|) 93,333 91,976 1,357
= 56,000
Al 26,133
I 11,200
307 21201 A 93,333 91,976 1,357
= 56,000
Al HI 26,133
I 11,200
10 M2 SXNANEHE2IHEX 93,333 91,976 1,357
Oogold Wbl XI& 93,333,000& 93,333
= 56,000
AlHI 26,133
L Hl 11,200
020l d&sts & St AMI 95,518 95,518 0
AlHI 95,518
307 glz2tol & 95,518 95,518 0
AlHI 95,518
11T M ZXAIS EX 95,518 95,518 0
ONE ol &g ¥ 2ot At
95,518,000& 95,518
AlHI 95,518
Heold X2 (HE2gl) 1,936 2,400 N 464
= 1,162
AlHI 542
- Hl 232
307 gl2tol & 1,936 2,400 A464
= 1,162
AlHI 542
- Hl 232
10 AL SXAIEEE2EH EX 1,936 2,400 A464
O0eold &2l XA 1,936,000& 1,936
= 1,162
Al HI 542
I 232
JFANE oelod HE=2g N 14,400 11,600 2,800
AlHI 14,400
307 glz2+ol & 14,400 11,600 2,800
AlHI 14,400




AN GEIEY
g 25 ¢ HEXNE
Sel g R0t S48 £4 (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
10 AL SXNAIEEE2EH EX 14,400 11,600 2,800
OFEXA OR0E He2d N
14,400,000& 14,400
AlHI 14,400
OF2FO{Bl0lE ZcelA=2 MUlA XI& 750 900 A 150
AlHI 750
307 glz2tol & 750 900 A 150
AlH 750
11T M SXAISE EX 750 900 A 150
OOFIOIRI0IE E2IAZ MHIA X
750,000& 750
AlHI 750
OtOIAtE SE2ELIHEH 29I 8,292 7,662 630
= 4,146
AlHI 1,977
- Hl 2,169
301 g2 d= 8,292 7,662 630
= 4,146
AlH 1,977
Tl 2,169
09 SALAHIEAS 8,292 7,662 630
O0l0IAE 22 RUEHE SEND
8,292,000 8,292
= 4,146
AlHI 1,977
T Hl 2,169
=38 Hgold XA 797,333 808,064 A 10,731
= 478,400
Al 223,253
T Hl 95,680
307 gl2tol & 797,333 808,064 A 10,731
= 478,400
Al 223,253
Tl 95,680
11 ALS S XAEE = 797,333 808,064 A 10,731
O338 Hgold XA 797,333,000 797,333
= 478,400
AlHI 223,253
I 95,680
228 oA0lE Fald Y X 57,600 57,600 0
AlHI 57,600
307 glz2tol & 57,600 57,600 0
AlHI 57,600
10 ALSISXAIEEE 22X 57,600 57,600 0
28 Hglold =eld oAl
57,600,000& 57,600




AN GEIEY
Ha: 28 2 JFAL
&??: & - R0 I8 =4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al'H] 57,600
I HelES Oelold SAA Hg 230,000 233,000 A 3,000
AlHI 230,000
307 gl2tol & 230,000 233,000 A 3,000
Al 230,000
10 AL SXNAIEEE2EHEX 230,000 233,000 A 3,000
OEI HelsS OelolE E|UAM A3
230,000,000 230,000
AlHI 230,000
ESWEP olAH XA 6,570,796 6,570,796 0
= 3,943,641
AlH 1,840,172
T Hl 786,983
307 21201 A 6,570,796 6,570,796 0
= 3,943,641
Al 1,840,172
- Hl 786,983
10 ALl SXNAIEEE2EH EX 6,570,796 6,570,796 0
OUEO0IE SAA 1Ad XI&
6,570,796,000& 6,570,796
= 3,943,641
AlHI 1,840,172
- Hl 786,983
S HRMS XN (BXWARI24H]) 659,039 659,039 0
= 395,615
Al 184,397
-l 79,027
307 21201 A 659,039 659,039 0
= 395,615
Al 184,397
Tl 79,027
10 AL SXNAIEEE2EH EX 659,039 659,039 0
O0eold B A 21l 659,039,000 659,039
= 395,615
Al 184,397
I 79,027
SEUHY HRME XA (KO UAI2LEZNS 1,852,109 1,969,531 A117,422
)
= 1,111,938
Al 517,783
Tl 222,388
307 21201 A 1,852,109 1,969,531 A7 ,422
= 1,111,938
Al 517,783
Tl 222,388
10 M2 SXNANEHE2IHEX 1,852,109 1,969,531 A117,422
OuWAL 228 He XA 1,852,109, 000& 1,852,109
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M HEIIED
HE: 28 2 HHNL
&??: & - R0 I8 =4 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= T.711.938
AlHI 517,783
Tl 222,388
ZHEENHE0E ESUAN S+ 17,000 18,000 21,000
AlHI 17,000
307 glz2tol & 17,000 18,000 21,000
AlHI 17,000
10 M3 SXNANEHI2IHEXR 17,000 18,000 A 1,000
OHUMNMEHEO0IE ESHA EE
17,000, 000& 17,000
AlHI 17,000
HOHERO HEO0ld XZA 228 i 3,600 0 3,600
AlH 3,600
301 L2 Az 3,600 0 3,600
Al HI 3,600
01 A3l EE E =56l = 3,600 0 3,600
OHMI R0t HEl0IE XZAL 2REF Ha]
3,600,000 3,600
AlHI 3,600
QI2t, JIE 00l EALN SX=2 XS 1,410,000 1,380,000 30,000
Al HI 1,410,000
307 21201 A 1,410,000 1,380,000 30,000
Al HI 1,410,000
10 M2 SXNANEHES2IHEX 1,410,000 1,380,000 30,000
Ogizt - JIFUE0E SAA 2X=& X&
1,410,000,000& 1,410,000
Al 1,410,000
12, JIEOE0lE BESuAM 3252 18,000 16,996 1,004
Al Hl 18,000
301 L2 AF 18,000 16,996 1,004
Al HI 18,000
01 A EE E 563 18,000 16,996 1,004
O QZINEHEO0IE ESWA FII2852H
18,000, 000& 18,000
AlHI 18,000
ooy X« 143,670 144,000 A 330
201 LBt 18,750 19,000 A 250
01 At 22l 18,750 19,000 A 250
Oadus A& S 2,250,000& 2,250
ORXM Helold X Xt 16,500
ZEE 750,000& *23| 1,500
2 Xt 1,500,000& 10& 15,000
203 PR =&l 720 800 A 80




2N

o4
B 88 U RIS
&??: & - R0 I8 =4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
FREEREEEST 720 800 80
OBSYR YLEX 720,0002 720
307 21201 A 124,200 124,200 0
11T M SXAISEEX 124,200 124,200 0
oogoly st A2dw=s X& 1,000,000 1,000
Oogold Hgsl XA 2,000,000& 2,000
Ooogolsy d&dl XI& 40,000
- 100 0] &f 250,000 *200H 2 5,000
- 50~99Y 230,000 *400H 2 9,200
- 21~49Y 190,000 *60H 2~ 11,400
- 20 0l of 160,000 *90H 2~ 14,400
Ooeold «gdl XI& 78,000
- 100 O] & 525,000 2004 2 10,500
- 50~99Y 450, 0003 4004 2~ 18,000
- 21~49Y 375,000 604 2 22,500
- 20 0l ot 300,000 *90H 2 27,000
O2Xots Heold dIIea XA
100,000& =122 1,200
Oz, US0eold sA2eE 52| 2l
gl XI& 1,000,000 *2H 2= 2,000
StEHOEI0IE 22X HE2 98,842 0 98,842
201 2et24d] 98,842 0 98,842
01 At 22l 98,842 0 98,842
OGtHOE 0l 22X g ¥ H&Z
98,842,000 98,842
FHaAAS2a 5,480 5,480 0
= 5,000
I 480
Sstolg=se X& 5,480 5,480 0
= 5,000
I 480
S801g2=x0 XA 29 5,480 5,480 0
= 5,000
I 480
201 L2l 4,500 4,500 0
= 4,500
01 At 22l 4,500 4,500 0
O=st0lg=0 XNFg2s 28 4,500,000 4,500
= 4,500
203 ¥ S =&l 980 980 0
= 500
Tl 480
03 AIHZ=XH 2 =AY 980 980 0
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